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102 circles in a pentagon

radius = 0078846720977  density = 0.821430477223  gEgwr: radius = 0.078397075020  density = 0.820209190624  §Egwrs radius = 0.078049093952  density = 0.
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density = 0.820195162227  QEgwr: radius = 0.077168830932  density = 0818315391322  QEgers radius = 0.076787199063  density =
cts = 198 e ratio = 12.958509837818 contacts = 201 e ratio = 13.023003992886 contacts
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107 circles in a pentagon

radius = 0.076515935706  density = 0.B19998750986  Ffgwr: radius = 0.076149393401  density = 0.819823215620 [ Egrs radius = 0.075754999505 density = 0. 818935868866
atio = 13.060172086949 contacts = 211 Ee ratio = 13.132080970547 contacts = 221 ERt io = 13.200448901514 contacts = 207



